T4 100

SELEREE &K
PN SRV BEN = e oy
®WE 4 7%k
S5 EE 3£ Ty TV A R AREBLSHTEE
1. IRADER AT -
N = gj\%' 7LC. D =
N B =
" . @27, 871 X374 ¥ 22
5 il 4 Pt s
AR | 1,036,153 21871 | i mmingy (ERAE) 4,904
e N & 0 0
Mo A 0 0
3 A4 0 0
= 2t 1,036, 153 27, 871
2. XHoOH B ;Y
\ Jere — AN¥%7=0 -
N E =
FERIZER 173, 900 4,700 | SEEFE 4,700
. REE AT S 600
IR 2 40, 700 1, 100 :
NHEFHE & 500
A 4, 000
MG B 170, 200 4, 600
o E (R 600
SRR ) 44, 400 1,200 | 77 AT v
O GE B 177, 600 4,800 | ZREET L2 4, 800
[EPUNCRZ 400
B} I IPEES 300
Z DGEE 84, 360 2, 280 -
AEFETIR 180
TESLEE 1, 400
Bt I % 30, 493 691
HEfE~DIRE 0 0
3E (ST, PTASE. %RIESE) ~EH
& EH R 4 314, 500 8,500 |4tESHE 2,500 PTASE 4,000 %EaH 2,000
@8, 500 X 3744
= 2t 1,036, 153 27, 871




